H & 0l & AHS B Ml A

20243 =0llah LB J1= 0l Xt

SA IO 2
Hu: J|2PDI0S L BHASRAN
=Rl JIFR0IUS EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
JIZ 0l X 2t 34,646,815 40,601,714 A\5,954,899
= 17,067,008
[ 171,000
Jl 889,980
< 4,471,368
Al 12,047,459
J=0Its & easSead 1,514,470 4,3%6,410 2,881,940
) 398,600
Al 1,115,870
JIZRAVIUS 618,320 406,320 212,000
Il 200,000
Al 418,320
JIZDIUSAIH 245t 71,320 70,320 1,000
202 04| 34,320 34,320 0
01 =LHO LI 4,320 4,320 0
OIISBH 2=
360,000& 122 4,320
04 =XlI=toib] 30,000 30,000 0
OgRsags 2o
30,000,000 * 14 30,000
203 =8| 37,000 36,000 1,000
03 A=A H R FZ| 37,000 36,000 1,000
ONHZR YD)
37,000,000 *14| 37,000
JI==20 S 13,000 13,000
308 XtXIEMSOIH 13,000 13,000
18 SIS0t & A AS A 13,000 13,000
OMIBAF Al JI=2AIIHSUE 1XH A
orgd& ot 13,000,000& * 14 13,000
HIISRE 240t iS22 Hel 80,000 50,000 30,000
201 ger=3| 30,000 0 30,000
01 AtR2tc|HI 30,000 0 30,000
O24ItA IS HHM BAHAH & S
AEHE AZ24E
20,000,000& * 14! 20,000
O&FFAl BotS LEDRAHAMS SLIHEEDA
a5 10,000,000 * 14 10,000
207 ARl 50,000 50,000
01 H2E4H| 50,000 50,000
O2&tA BiE2icl &8 30,000
D2023H 240tA HHEE &Y X HHEA S
cl 20,000,000& * 14! 20,000
D2a0tA BHEEY MEAHEN Y 2 &
ss 10,000,000& * 14| 10,000
OUHEAHNN AFAIE HEEY 215 20,000




SA IO 2
Hu: J|2PDI0S L BHASRAN
=Rl JIFR0IUS EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
DEFA EOS LEDWHAIY SLIHEED
R
20,000,000& » 14 20,000
JI=20IHSEA 54,000 60,000 26,000
307 el2to| & 54,000 60,000 26,000
04 QIRHHAIAIH 2 £ 54,000 60,000 26,000
OXITel & JIE JISEZ2HA
54,000,000 » 14! 54,000
JIZEsE HAAS - AF X2 400,000 200,000 200,000
7l 200,000
Al 200,000
401 Al HIZL 201 400,000 200,000 200,000
Il 200,000
Al 200,000
01 Al&H| 400,000 200,000 200,000
OJIZat FHUHS - N N
400,000,000 * 14 400,000
) 200,000
Al 200,000
EASEAA 747,4% 3,815,443 A3,067,947
Jl 198,600
Al 548,896
BASEARAME 22 200,000 202,000 22,000
Il 100,000
Al 100,000
308 AHXIEMSOIH 200,000 0 200,000
Jl 100,000
Al 100,000
18 SIS0t HAS A 200,000 0 200,000
OAZEXNZEHH 29
200,000,000 * 190 £ 200,000
Il 100,000
Al 100,000
Jl=dsiiSusATRdE & J=dHsEE2 29 272,8%6 0 272,8%6
101 @124H| 106,019 106,019
M ORIMZZ2NSE S 106,019 106,019
OsddRA(NL2E2el) 106,019
>ol=s 2,386,780 x3H*12& 85,925
D> AXt=g 11,4202 +8A| 23+ 11 3,015
P=EASREs 88,938,960 *4. 5% 4,003
DALLEEZ 88,938,960 +3.545% 3,183
PEINQYEEE 3,153,000& %12.81% 404
PHNESEES 88,938,960& *1.75% 1,557
>ATHEE = 88,938,960 *0. %% 801




SA JI=0IH X2
Hu: J|2PDI0S L BHASRAN
el BASEAA (Gt H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
>EXNS 2,386,780 +«3H 7,161
201 er23| 166,877 166,877
01 At22te|Hl 92,489 92,489
OAlEE2g =8l 3,000,000 24 A 6,000
Oztaa 2e|+=2H 60,0002 «12& 720
O==2 2el+=ZHl 280,000 * 122 3,360
O3JIEE)| 2el+=E4|
162,500« 12& 1,950
OEFS 492,000 *14] 492
O&=)| gtz 195,400~ 128 2,345
ONM==X A2 820,000 <22 1,640
O8AEY 4,958,800« 12 59,506
OAx=89Y 160,000 6 960
OodJ|etd 2|84 581,930 * 122 6,984
OsZ)| et e | ES 275,000+ 122 3,300
OAgotM e | ES 150,000& «12& 1,800
ORelZHIE4 286,000 122 3,432
02 S3=gl 74,388 0 74,388
OdIIR3 3,420,000 123 41,040
Oostes 401,330+ 128 4,816
Odote=ER= 295,000 * 122 3,540
Od=28= 4,144,000+ 14 4,144
OusS7rEFE=S 800,000 *14] 800
OA YN E 2] 48,000 *14] 48
OAIZEHl sXl2el 20,000,000 * 14! 20,000
BASE WSO Y 24 35,000 35,000
201 el 35,000 35,000
03 Ar=EHI 35,000 35,000
OBAZEY NRZ2IY 2%
35,000,000 x14] 35,000
BASE MEL2 0y 24 32,400 32,400
201 er23| 30,000 30,000
03 A= I 30,000 30,000
OBtAZ HH ol 15,000, 00024141 15,000
OEIAZEY HE T2y 29
15,000,000 * 14! 15,000
202 04l 2,400 2,400
01 2LHoIH 2,400 2,400
O2SE g2404|
200,000 x 122 2,400
BASEHIZE UK 2 178,000 250,300 AT72,300
Il 84,000
Al 94,000
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SA JI=0IH X2
Hu: J|2PDI0S L BHASRAN
el BASEAA (&9 A
SA - ZE . BR() - HRAR - BES of v G o HIDE2
201 er23 | 10,000 16,000 26,000
01 At2teltl 10,000 16,000 26,000
OBAZEHEQE EEE MH
5,000,000& 22 10,000
301 EetE2 N = 168,000 234,300 66,300
Il 84,000
Al 84,000
14 0Bt 2as 168,000 234,300 266,300
OBASHEQE HUX 22
168,000,000 * 14! 168,000
7l 84,000
Al 84,000
EHASEHIECIE skt 29 29,200 22,000 7,200
Il 14,600
Al 14,600
301 EtE2 NS 29,200 22,000 7,200
Jl 14,600
Al 14,600
4Bt 2as 29,200 22,000 7,200
OBASHEQE =i 23
29,200,000 * 14| 29,200
7l 14,600
Al 14,600
AHsgd 148,654 174,647 A25,993
NEots2d A 2435t 10,230 31,630 21,400
201 Ler=23 | 7,350 8,750 21,400
01 AtR22te|Hl 7,350 8,750 1,400
OXHtseddel g4+
70,0003 202 +32 4,200
OXEtseEd W= 600,000 23] 1,200
OXHItsEd 8 1,950,000 *14] 1,950
202 04| 2,880 2,880
01 =LHA LI 2,880 2,880
OXNEHIsEE G280
240,000 x 122 2,880
ASIs2Ed =W - 2 85 138,424 143,017 N4,593
201 fer= 3| 3,500 3,500 0
02 S3=gHl 3,500 3,500 0
OXIZtsds s MAXILEL (0120
) A3l 3,500,000& *14] 3,500
307 elztol & 134,924 139,517 A4,593
02 LB HAHE L 39,600 44,000 N\4,400
OXZoN21 &AL
39,600,000 x 14 39,600




SA IO 2
BRSPS L BASYAH
el XNSIised (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
03 2N EHE2SHIEX 95,324 9,517 A193
OFFXNHItsEHE2 28 X2
95,324,000& x 14 95,324
ILg 2l 29,933,468 33,231,201 N3,297,733
= 17,061,383
[ 171,000
= 4,075,489
Al 8,625,596
F¥agd 28 1,050,470 2,506,019 1,485,549
= 383,750
[ 87,438
Al 579,282
g2 e Xx 29,948 34,348 A4,400
201 Eer23 | 24,628 29,028 A4,400
01 At2t2lt] 7,400 11,800 N\4,400
OUJItHEE A AIEBAME
550,000 %102 5,500
OUIItHEE A ASTHHE 223
1,900,000 *14] 1,900
2 Ss2g4l 17,228 17,228 0
Oy g8 RER=
2,100 02 * 122 2,268
OoJIeyg daExelE sHdsRs
50,000 »2CH =128 1,200
OSFHZLIHY dHl Stk=s
35,0003 *3CH* 122 1,260
Ol - A58 - 45 SZEH ;A2
12,500,000 * 14| 12,500
202 04l 4,320 4,320
01 =LHAHI 4,320 4,320
Ol 82804
360,000 x 122 4,320
301 EetE NS 1,000 1,000
14 0Bt 2a3 1,000 1,000
OstZgde MIxas
1,000,000 *14] 1,000
AAZAEE 1Y SXAE X K& 567,000 1,800,000 A1,233,000
= 315,000
== 75,600
Al 176,400
402 2I2E X201 & 567,000 1,800,000 1,233,000
= 315,000
= 75,600
Al 176,400
02 RIENZASEZ(0IETHR) 567,000 1,800,000 A1,233,000




SA IO 2
FH: PIeg 22
el 3¥aE 28 (St &)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
OARPANE IS ZXAE £X X
= 5,670,000 *1000H 2 567,000
= 315,000
[ 75,600
Al 176,400
IHEE NsAEYY B 30,000 300,000 A270,000
= 18,000
[ 3,600
Al 8,400
402 QI2F X201 & 30,000 300,000 A270,000
= 18,000
s 3,600
Al 8,400
02 QI EASEZ(0IETHR) 30,000 300,000 A270,000
ONEEB H=ABUY 22
600,000 *50CH 30,000
= 18,000
=S 3,600
Al 8,400
FAHS OIZAIE HUSIIE =X 12,500 20,000 AT7,500
< 3,750
Al 8,750
201 er23 | 12,500 20,000 AT7,500
= 3,750
Al 8,750
01 At2teltl 12,500 20,000 AT7,500
OFSAS OISAIE dUSIIE SZXE
500,000 *250H 2 12,500
=S 3,750
Al 8,750
Fs atBgZa o 14,960 20,800 ~5,840
== 4,488
Al 10,472
401 Al HIZL 201 14,960 20,800 25,840
= 4,488
Al 10,472
01 Al&H| 14,960 20,800 A5,840
OF s etdgZe oy
1,360,0002 1100 2 14,960
= 4,488
Al 10,472
AGEIT NZEX SIS 91,350 91,350 0
= 50,750
Al 40,600




SN JIBHLXID
FH: PIeg 22
el H¥ed 24 (St &)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
402 QI2F X201 & 91,350 91,350 0
= 50,750
Al 40,600
02 QI X2 AL E R (0IHTHR) 91,350 91,350 0
OJNAZEI HIE0tA NZEX 2
3,150, 0002 x29CH 91,350
= 50,750
Al 40,600
zag FEIol 24 283,712 233,121 50,591
101 e124d| 171,652 131,951 39,701
M ORINZZ2NSE S 171,652 131,951 39,701
OHFARR(ZALE =TI 24) 171,652
>olEs 2,305,270« 13863 149,843
D> AXt=g 11,0302 +BA| 2t 13 x4 4,589
P=EASRY=s 154,431,030 *4. 5% 6,950
DALLEEHZ 154,431,030 +3.545% 5,475
PEINQAYEEE 5,474,580 *12.81% 702
PHNESZES 154,431,0302 %1.75% 2,703
DANESEE 154,431,0302 0. 9% 1,390
201 et 3| 90,840 96,850 26,010
01 At2t2l] 8,100 8,650 2550
OzZAs F0llol 24 =]
6,000,000 * 14 6,000
OXNS AR BA
70,0002 x5 +63] 2,100
02 s3=gHl 82,740 88,200 Ab,460
OEd= Xz g2 & 238K ¥R
2,100&%19,70021 %22 82,740
202 04| 4,320 4,320
01 =LHO LI 4,320 4,320
O=Zas FUllol 2420
360,000& 122 4,320
405 AtatE = 16,900 16,900
01 ML ESFSHI 16,900 16,900
Oorc(zZAsEa4) 1,300, 0002 * 13CH 16,900
etEd el 21,000 21,000
207 ARl 21,000 21,000
01 ARSI 21,000 21,000
O&=FAl atst=d M2 HE & XHs
StALL] DiSHE =8
21,000,000 * 14! 21,000
OIMEIX S 28,882,998 30,725,182 A1,842,184
= 16,677,633
[ 171,000
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JIZ 0L Xl 2

FH: PIeg 22
&2 OIAIZA S (EEEE))
SA - ZE . BR() - HRAR - BES of v G o HIDE2
< 3,988,051
Al 8,046,314
CAUIEEA 2Y 144,000 144,000 0
= 43,200
Al 100,800
201 Let=23 | 144,000 144,000 0
= 43,200
Al 100,800
01 AtR2t2|HI 131,000 0 131,000
OWJIQEsEY 7RSS
131,000,000 * 14! 131,000
== 39,300
Al 91,700
2 352484l 13,000 144,000 A131,000
OWIILE=EEY 382=
13,000,000& * 14 13,000
= 3,900
Al 9,100
OISRl & 118,532 149,082 /30,550
201 fer= 3| 12,772 143,322 /30,550
01 At 2t 80,100 116,050 235,950
ODINEX 82= M
6,000,000 * 14 6,000
OHIINSAt HHESHES S22 A
50,0002 100K 2~ 5,000
OBHEIIA MR (0HS) BAe=2
30,0002 *50CH 1,500
OXSAt HHEIIA ZFHIJ| SBAe==2
1,000,000 *14] 1,000
O&=Itg &xt=z 600,000 x4CH+ 153 36,000
O=2ZRNSA XIIHA S
15,300 %2, 000CH 30,600
02 S3=gHl 32,672 27,272 5,400
OSYUSRZRE 2522
810,000 * 122 9,720
OCOIMZA e BlE 3332
300,000& * 122 3,600
OoJIeE dad 532
200,000 * 122 2,400
ODINIBX E2(UEHT) LS 2TRS
2,1003 %2602~ 128 6,552
OOIMZAI ety 0elE 2R 2
2,000,000 *14! 2,000
OSEUHSBZE RA2e|
3,000,000 %14 3,000




2A:

E M

X=]

JIZ 0L Xl 2
o128 2l

o OIMIEX T

SA - B - e9l(3]

AH) - HIRAY - BES

Ofl &F2H

HMEE
Ofl &k2h

oty dae sXl2el

300,000 =187 2

5,400

202 04|

5,760

5,760

01 2LH04l
OO0lMIgi X 2e| ERFA0I

480,000& « 122

5,760

5,760

5,760

OIMIZHA HHEJZAE & ZAl X

Mo

=

342,000
171,000

51,300
119,700

570,000

A228,000

101 e124d|

SRR

277,000
138,500
41,550
96,950

460,000

183,000

04 JIZtNZ2 2N S+
OOINIZXl BHE ZAIE 2

(129)
277,000,000 14}

SRR

=

277,000

277,000
138,500
41,5850
96,950

460,000

A\ 183,000

SRR

65,000
32,500

9,750
22,750

110,000

A45,000

01 Ar2teltl
OOINIZX BHE& Z

02 Z324l

ScodT o

=
52,000,000 *14!

OOINIZX BHEE ZAXNE 77

13,000,000& * 14!

SRR

=

52,000

52,000
26,000

7,800
18,200
13,000

13,000
6,500
1,950
4,550

94,000

16,000

A42,000

A3,000

IS 25

hoH

=

12,328,000
7,490,000
1,368,800
3,469,200

17,465,800

A5,137,800

402 SIZERHE0| M

o

12,328,000
7,490,000
1,368,800
3,469,200

17,419,000

/5,091,000
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X XH -
o=

JIZ 0L Xl 2
o128 2l

2l DINEX TS EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
02 QI X2 AL EE(OIETHE) 12,328,000 17,419,000 /5,091,000
OIS 7L (SE)
6,880,000 *730CH 5,022,400
= 2,920,000
< 584,000
Al 1,518,400
OISR LK (5H2)
17,440,000 *390CH 6,801,600
= 4,290,000
= 717,600
Al 1,794,000
OFIINER PUXR(SE)
126,000,000 =4CH 504,000
= 280,000
= 67,200
Al 156,800
II0IEX 25 192,000 218,400 A\26,400
= 96,000
= 28,800
Al 67,200
402 2I2F X201 & 192,000 218,400 N26,400
= 96,000
[ 28,800
Al 67,200
02 QI T2 AL EE (01X THE) 192,000 218,400 A\26,400
O&II0IER FUXEH
1,600,000 *120CH 192,000
= 96,000
< 28,800
Al 67,200
=ATMIINSE 25 9,040,000 3,450,000 5,590,000
= 5,740,000
== 1,530,000
Al 1,770,000
402 212 X201 & 9,040,000 3,450,000 5,590,000
= 5,740,000
=S 1,530,000
Al 1,770,000
02 RIENEASEZ(0IETHR) 9,040,000 3,450,000 5,590,000
O=adI|INSAt 2
33,000,000 *100CH 3,300,000
= 2,100,000
= 480,000
Al 720,000




2A:
PSER
o e

el

JIZ 0l Xl 2
o128 2l
OIMIEX TS

S LRE-L

- (31 -

NS A

- HyS

ol vy

HMEE
Ofl &k2h

O%2®IINSIHRASE) 2LN

410,000,000 = 14CH

mhoH

=

5,740,000
3,640,000
1,050,000
1,050,000

hoH

=

3,726
1,863

560
1,303

4,200

AN4T4

402 SI2ERHE0I M

Mo

3,726
1,863

560
1,303

4,200

N4T4

3,726,000& 14

Mo

=

3,726

3,726
1,863

560
1,308

4,200

AN4T4

SHAF BHISOtA M2

Mo

=

6,522,740
3,327,270

958,641
2,236,829

8,463,700

21,940,960

Xt

M

o

[
i

0
J

402

Mo

6,522,740
3,327,270

958,641
2,236,829

8,463,700

1,940,960

ol

2
O

U

i

0 AZAEE
KX ZIIHIX

fun
=

[uy
L
T

>5

ol

on

\J

>2AEIH

r

Z(0IEME)

A&
732,800,000 14

4,536,200,0002 * 14!

141,740,000 *14]

363,000,000 %14

= H W = M W

Mo

6,522,740
5,410,740
732,800
366,400
109,920
256,480
4,536,200
2,268,100
680,430
1,587,670
141,740
70,870
21,261
49,609
453,000
363,000

8,463,700

A 1,940,960




SA IO 2
FH: PIeg 22
2l DINEX TS EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
= 181,500
=S 54,450
Al 127,050
D>P-Nox MZH& Xl 22
75,000,000& *14] 75,000
= 37,500
s 11,250
Al 26,250
>1Est=EXt 8535 HE
15,000,000 * 14| 15,000
= 7,500
== 2,250
Al 5,250
OAEIIA MBoll XX 659,000
D>AEI Al OPF 11,000,000& * 14 11,000
= 6,600
< 1,320
Al 3,080
DAEIA AW
528,000,000 x 14 528,000
= 316,800
& 63,360
Al 147,840
DERAAX HSsHISULE)
30,000,000& * 14 30,000
= 18,000
= 3,600
Al 8,400
>ERAAR dssH2lIS0l2)
30,000,000 *14] 30,000
= 18,000
= 3,600
Al 8,400
PSR dSeHF=LHAREX)
60,000,000 *14! 60,000
= 36,000
= 7,200
Al 16,800
0120l St LPGA &&t A& 45,000 140,000 /95,000
= 22,500
= 6,750
Al 15,750
402 2IZ2tA=01d 45,000 140,000 /85,000
= 22,500
& 6,750




SA: JIZ0H X 2
M HIeg 2

2l DINEX TS EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
Al 16,750
02 QI XHE AL E R (01X THE) 45,000 140,000 /95,000
OO0lgl0l Setxte LPGRE &2t X1
5,000,000 ~9CH 45,000
= 22,500
= 6,750
Al 16,750
FAaENEA 2EXE 147,000 120,000 27,000
308 AtXIEMSOIE 147,000 120,000 27,000
13 SI[2S0HE & EAS A 147,000 120,000 27,000
OF=AZdA 2
12,250,000 * 14 2=+ 122 147,000
OIUX tdEg X ATHA0IU X O 3,050,810 2,826,455 224,355
= 5,625
Il 491,380
== 395,879
Al 2,157,926
HUX &ESE 1,097,977 754,742 343,235
= 5,625
S 260,205
Al 832,147
NASE =SHIIAME e 4,437 5,325 A\B88
== 1,331
Al 3,106
403 AXIEHHSAH=201H 4,437 5,325 A888
[ 1,331
Al 3,106
02 SISt =S A AEHI 4,437 5,325 888
OMASE ==8IIAE A
4,437,000 *14] 4,437
= 1,331
Al 3,106
SADA BEXR 852,070 532,767 319,303
s 255,621
Al 596,449
402 2I2F X201 & 852,070 531,367 320,703
S 255,621
Al 596,449
02 QI X2 AL EE (01X THE) 862,070 531,367 320,703
OH=SFEXA AL BN
852,070,000 x 14 852,070
= 255,621
Al 596,449
LPGEI! AMZIt= AIEIHA 11,250 11,250 0




SA IO 2
M UK QEB2 U ATHMOILT JHe
St OIUX N SS EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
= 5,625
=S 1,687
Al 3,938
403 AXIEHHSAH=201H 11,250 11,250 0
= 5,625
= 1,687
Al 3,938
02 SISO et =2 A P E A I 11,250 11,250 0
OLPGEI| AtESIt= AIEIHE
11,250,000 * 14 11,250
= 5,625
= 1,687
Al 3,938
FHAHS DBXIE7 IPACHEXHED| X2 5,220 5,400 A180
== 1,566
Al 3,654
403 AXIEHHSAH=201H 5,220 5,400 A180
[ 1,566
Al 3,654
02 SIS0t =S A A 5,220 5,400 2180
ONASE DEXIH JtALE XD (EHO]
=) 22 5,220,000 *14] 5,220
= 1,566
Al 3,654
sZ0t= LGS 23 225,000 200,000 25,000
402 2I2F X201 & 225,000 200,000 25,000
01 RIS ASE X (XHMITHR) 225,000 200,000 25,000
SENS PGS NEYT 25
225,000,000 *14] 225,000
OiHX 282& 018 108,533 100,958 7,575
HiUX Z2ef =8 20,720 19,320 1,400
201 er23| 4,400 3,000 1,400
01 At2tltl 4,400 3,000 1,400
Ol 2o 22= M=%
1,500,000 23] 3,000
OllHXIAE 2 &4+d
70,000 * 102 #22 1,400
202 04| 4,320 4,320
01 =LHOLI 4,320 4,320
ORIl 22| BRFA04]
360,000& 122 4,320
207 ARl 12,000 12,000
01 A1E4H| 12,000 12,000




A D0 XDt
Hu: (LK OHNE

ST & AMEHUR HE
=Rl HIUHA 2828 018 EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
OZSRE 2a0tA SHE22AH
12,000,000& * 14 12,000
NN ESAE X 43,200 43,200
201 er=23y| 43,200 43,200
02 S3=gHl 43,200 43,200
OESCO &&= (LED Jt=2S LWH)
3,600,000& ~12& 43,200
fcld HAIINSE AL 44,613 38,438 6,175
403 AXIEHHSAH=0lH 44,613 38,438 6,175
02 SIS0t =S A A 44,613 38,438 6,175
fcd HIIMSS M
44,612,500 x 14 44,613
STHA0IH X Ed 3t 1,844,300 1,970,755 N126,455
) 491,380
S 135,674
Al 1,217,246
ATHMOUX B3 7,460 7,460 0
201 Ler23| 1,700 1,700
01 At2teltl 1,700 1,700
O MUK 25 2= M&
1,000,0002 %14 1,000
OATHAEUU X SSSAAE EOtRIE &
A= 100,0003 *7& *13] 700
202 04| 5,760 5,760
01 SLHoIH 5,760 5,760
OLITHAOIL X HRF&04H
480,000&! 123 5,760
AITHAEON X JHE 25,000 25,000 0
307 el2to| & 25,000 25,000
05 gizt?(& = 25,000 25,000
ORAZULX I SHE 2
25,000,000 * 14! 25,000
ATHAHOU X =X (2R EXR) 217,320 385,750 108,430
[ 83,217
Al 194,103
402 QIF X201 & 277,320 385,750 108,430
= 83,217
Al 194,103
02 QI2tXt= ALY (OIXTHE) 277,320 385,750 108,430
O- A0 X =E1 X
277,320,000 x 14 277,320
= 83,217
Al 194,103
ATHBUHX SSEXA 1,456,720 1,297,085 159,635




2A:

X XH -
o=

JIZ 0l X 2
(U1 PARRNIFSEEE

e oy
He

L ATHA O KT OHE

Rl AMTHENUEX 2dst EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
7l 449,080
=S 45,557
Al 962,083
401 Al HIZ R 0HbI 31,020 40,260 N9,240
Jl 6.495
Al 24,525
01 Al&H| 31,020 40,260 29,240
O UK SR
31,020,000 * 14| 31,020
Il 6,495
Al 24,525
402 2IZtA=01d 1,425,700 1,256,825 168,875
) 442,585
= 45,557
Al 937,558
02 QI X2 AL EE(0IHTHE) 1,425,700 1,256,825 168,875
O UK SR
1,425,700,000& x 14} 1,425,700
) 442,585
S 45,557
Al 937,558
FAAHS HHA =K 77,800 216,600 /138,800
) 42,300
& 6,900
Al 28,600
401 Al HIZL 201 77,800 216,600 A138,800
Jl 42,300
< 6,900
Al 28,600
01 Al&H| 77,800 216,600 A138,800
OFSAHS HHXISA
77,800,000& x14] 77,800
Il 42,300
== 6,900
Al 28,600
AY2SZHIOI=0HRI D) 148,067 147,648 419
IARAHHI(JIZ 0L XID) 83,701 82,062 1,639
IR HH| (=N XI) 83,701 82,062 1,639
101 212A4H| 83,701 82,062 1,639
01 2= 81,497 80,136 1,361
OAl2I22+E
11,3192 %24 x300A1 2+ 81,497
03 SR (RINHA) 222+ 2,204 1,926 278
ogyzzd 2,204




2A:

E M

JI—rOHI:IIIJJ
HH2SZHI(OI= 0K )

D IE2EHI(OIF LX)

Sk (Srol: @)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
=EFEEICE)
18,3603 x 12 *120A1 2t 2,204
J1238I(I1Z0U X ) 64,366 65,586 1,220
Jl=2ZH (120X 64,366 65,586 1,220
201 fet=2 3| 37,686 37,686 0
01 AtR2t2|HI 32,124 32,124 0
ORAN2g AIR22/]
32, 124,0002%14] 32,124
® Z=2H| 5,562 5,562 0
ORN2Y TT29|
5,562,000 * 14 5,562
202 04l 13,080 13,080
01 =LHOHI 13,080 13,080
OJl2g =80l 840,000 x 122 10,080
OJIZ20IUHS YRF4 2204l
3,000,000& *14] 3,000
203 g4l 8,100 8,100
01 J|2=2gdR=AH] 3,300 3,300
osd=g 3,300,000 14 3,300
M RFAZSLRFEI 4,800 4,800 0
O30& Olst 400,000 12& 4,800
405 AtatE = 5,500 6,720 1,220
01 L ESFISHI 5,500 6.720 1,220
OPC(Z2HI) (L HI) 1,000,000 *1CH 1,000
OLE=(H) 1,500,000 «3CH 4,500




